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Exercise 2.1

Question 1:
Solve the following: x—2=7

£, Answer 1:

x—=2=7
= x—=2+2=7+2 [Adding 2 both sides]
= x=9

Question 2:
Solve the following: y+3=10

#. Answer 2:
y+3=10
= y+3-3=10-3 [Subtracting 3 both sides]
= y=7

Question 3:
Solve the following: 6=z+2

#. Answer 3:
6=2z+2
== 6-2=z+2-2 [Subtracting 2 both sides]
= 4=z = zE=4

Question 4:

Solve the following: g +x= g

€. Answer 4:
3 17
tx=—
7 T
=5 x+g—§=£—2 [Subtracting = both sides]
7 7 3 1 7
17-3
= _= T
7
14
= x=—
7
= =2

Question 5:
Solve the following: 6x=12

€, Answer 5:
6x=12
= % = % [Dividing both sides by 6]
= x=2
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Question 6:

Solve the following: é =10
€. Answer 6:

5
= —x5=10x5 [Multiplying both sides by 5]
=

Question 7:

Solve the following: 2—; =18

€. Answer 7:
21
= %x3=18x3 [Multiplying both sides by 3]
=7 2x=18x3
= 2—; = 18;3 [Dividing both sides by 2]
= x=2]

Question 8:

Solve the following: 1.6= %
€. Answer 8:
1.6=-2
1.5
=% 1.6x1.5 =%x1.5 [Multiplying both sides by 1.5]
= 240=y
= vy=240

Question 9:
Solve the following: 7x-9=16

€. Answer 9:
Tx-9=16
=2 7x—94+9=164+9 [Adding 9 both sides]
= Tx=25 = ? = ? [Dividing both sides by 7]
25
= x=—

7
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Question 10:
Solve the following: 14y—-8=13

€. Answer 10:

14y—8=13
= 14y—8+8=13+8
= 14y =21
L My 2
14 14
D
2

Question 11:
Solve the following: 17+6p =9

€. Answer 11:
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[Adding 8 both sides]

[Dividing both sides by 14]

17+6p=9
= 17+6p—-17=9-17 [Subtracting 17 from both sides]
= 6p=-8
6p -8 T -
= riari [Dividing both sides by 6]
I
3

Question 12:

Solve the following: % +1= 7

15
€. Answer 12:

% a
Z3l=—
3 15
= LA N PR
3 15
x 7-15
= T
3 15
x -8
= =
3 15
= E><3=_—8><3
3 15
-8
= x=—
5

[Subtracting 1 from both sides]

[Multiplying both sides by 3]
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